x &

5 o
QD
=3
w
©
o

= 14.2439 o

5 °
=]
=
T

-

w

°

-

N

o

11.2903 ——

-

=

o

-

o

°

o

o

(o]

o

75779 ~_

75684 — 7

7.5493 =

7.1603 ——,

7.1413 —

6.0258 —

o

o

[}

o

N

o

3.8274 ——

3.3240 ——

w

o

24698 ——

N

o

-

o

0

abundance

0 1.0 2.0 3.0 4.0 5.0 6.0 7.0 8.0 9.0 10.0 11.0
| P T S T T T S T T S T T S T T S T T S T T T S T T S I S T T S S AN AR
J oo
1 o
] 28
i m
7 2y
4 <0
] 5=
4 mm
] NCI>
1 35
|
N 0.884 ]
] 29
1 na
] ?_..
] P
] T
7: abundance
7 ? 1‘0
1 25
1 0.895 3 35
- B 59
] : iz
] 5 25
1 : . g=
] 2 > iy
4 7.5779 T
| 75684 —
] 75493 ———
] 73720
] 7.3567 ————
_ 73415 ————
; 7.1603
| 71413 ———
: k 7.0936 4‘:‘
: s
l — 2o
1 0.914 o
S 2.973
T 0N 046
4 UTIS0O 6.9258
B 6.9106 o
H
] 1 3
| 7




